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7 Mean 0.4321
Std Dev 0.3139

|" |
H\Hﬂ‘l H\ I H\MHHHH HW ”H\H h WUHUH.
'HHHHHH \H ”H H U'\H H
IIH‘ |H|| |H| il
0. .2030.4 .6 0.7 0.8 0. 1

Prob (X2)

=== DQM_CKF_TTbase

= DQM_mkFit_TTbase

g
Q©
W

T

<op Ip > (%)

O L N W Ao

o 5
S 108k o
I - O
R 0 1 2 3
TP n (PCA to beamline)
A N A
T r 5
14 £ 18
=< < 1.6
\" \"
1.6F 14
1.4 1.2
1.2 1
0.8
E 0.6
0.8 0.4
06 0.2
o v o QF
© T
@ @
i-- 0.5
0.

10 1 10 10? pw3

g F : :

P R LR H ERRRERES

- F . :

- 3:_- 11 |

o F . 8

o 2F- -  ARRERREE

\ E N d
E : HERREEREE
0— 1 -
£ : SRR
of-. I A
_3;_ :. : .........
-af EERRERERN P PEY |\ ERRRRES

o =5 i i i

3 | b

[T S 1 L EH
0.8 ---- q--------
10" 1 10 10? p103

10°° 1072 107
AR(track, ]et?



	Contents
	Page 1


